
Spiel 1 Spiel 2 Gesamt

Spiel 067 22:11 D 5 STADLER Mathias 44 + 48 = 92 #

E 5 GRABENSCHWEIGER Martin 69 + 59 = 128 # #

Spiel 068 22:18 D 4 HINTERSTEINER Gerhard 57 + 56 = 113 # O

E 4 WIMMER Gottfried 55 + 52 = 107

Spiel 069 22:27 D 3 STRONDL Karlheinz 59 + 57 = 116 O # O

E 3 STADLER Herbert 55 + 60 = 115 #

Spiel 070 22:38 D 2 RUMETSHOFER Martin 53 + 58 = 111 O

E 2 HIESL Christoph 52 + 56 = 108

Spiel 071 22:49 D 1 GÜNTHER Reinhard 57 + 64 = 121 # #

E 1 UNTERSTEINER Johann 65 + 53 = 118 O


